This report:

% MINI: (Type-subtype and calculation errors %
checkReport3("http://accounting.auditchain.finance/reporting-scheme/mini/testing5/instance.xml",
['http://accounting.auditchain.finance/reporting-scheme/mini/type-subtype2/type-subtype2.xsd'], [cacheValidity(3600)],Result).

http://accounting.auditchain.finance/reporting-scheme/mini/testing5/instance.xml 


In this test I removed the total for Noncurrent Assets. How would you derive the value for Noncurrent Assets if it was not reported?
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